


NUMBER SYSTEM (LCM)




LCM (least common multiple)

NO. OF QUESTIONS MAXIMUM DAYS CLASS DURATION

10 Questions 1 DAY 2 HOURS



What is LCM?
How to find LCM?

Example:
Find the smallest number N which can

divide 2 and 37




’

Let N be the Smallest number which when divided by a, b and c leaves...

No Remainder
#

——

Having Some Remainder
ﬂ

e

Type-1:
N =k.LCM (a, b and c? Same Remainder (Let r) Diﬁerewh ra, T'3)
k= 1‘2'3“““". R e e
Same Difference Different Difference
Nfk LCM(a,bandc (i.e, a- ry=b-ry=c-r; =x) (i.e,a-1r1 #b-1r2 #c-13)

|

Type-3: Type-4:
N=k.LCM (a,bandc) - x N = k. LCM (a, b and c) + Chinese Number
s L2 k=0,1,23......




Type-1

No Remainder

Type-1:

N=k.LCM (a, bandc)
N e 5 R




CLASS EXERCISE

Find the greatest 3-digit number which is exactly divisible by 2 , 3,

9and 11?3 3P| DI 98 T g8 =T JTd
W2 3,93 11
9 guia: f[aUTa 8172

1) 990 1) 937 111)981 1V)983

SSC CGL 2016, SSC MTS 2014



What is the greatest number of 4 digits which is

exactly divisible by 10,15 20 ? 4 3i®[ @1 Had TS!
HSIT T § Y 10,15 20 ¥ Yuia: faursa 82

1) 9990 1)9960 111)9980
iv) 9995



The Greatest four-digit number which is exactly divisible by

12,18, 21 and 28 is ? IR 3P| DI T4 T85! BT Sl 12,18,

21 3Mi¥ 28 | gufa: faursu 8, a8 82
i) 9928 ii)9882 iii)9728 iv)
9828

SSC 2015
, 2016






. Type-Z

o ’\JRemam er (Letr)
2 el

@

O

”‘ ~ 4

Type -2:

N = k. I.CM (a b and c)@

}
&



Find the least number which when divided b@ , @ nc ‘9

respectlvely leaves remainder ;n each case ?

a?rﬁsrqﬁlﬁm 15, 20, 36 3R 48 A AU FHA W %"
fRuf ¥ 3 A a7 \4\

1) 740 111)1450 IV)815 é———/\j
(ST B A



CLASS EXERCISE

What is the least number which when divided by §.9,12.15
and 18 leaves a remainde each case ? d& St A Eﬁﬁ
TSI T 8 o1 6,9,12,15 18ﬁﬁuﬁaaﬂﬁmuﬂ$
fRiffd 2 Auaaare?

i) 180 ii)176 iii) 182 iv) 178

SSC CHSL 2017 & CGL 2015



CLASS-EXERCISE

Let N be the least number o m hich when divided by 4

eaves remainde he "' e sum of digit of N? HIH

3P| Bl oY 4, 6, 10
ﬁuﬁaaﬂﬁwzﬁwm% a‘rN%mraﬁm

DIoIg? )
:H.?\ @ iii) 4 @ 6 <"'

0 and

N\

p Y %










CLASS EXERCISE

Find the smallest number which when divided by 2,3 ,4 ,5and6

and leaves remamde each/case but t r is divisible by
dg olel A tﬁaﬁ 5 MR 6T ,
ﬁuﬁaaﬂﬁwm \%

fRufd & 1 A9 72 Afb T8 79 faursa

) 724/ 1) 245 111)301 |\;\)(

\& “7@\ O 4’—‘




CLASS EXERCISE

The least number which when divided by 4, 6, 8 and 9 leaves the remainder 0 in each
case but when this number is divided by 13 leaves remainder 7 ? ?ﬁ'ﬁ ﬁ m

g o 4. 6, LT T e T T TR e
mm%%m?maﬁwﬁﬁmﬁaﬁmm%
dl B 7 U glidl

1) 144 i) 72 iii) 36 \)
85



CLASS EXERCISE

Find the sum of digits of that smallest number which is divided by
5, 6, 7 and 8 leaves remainder 3, but when divided by 9 leaves no

remainder?wmﬁmmﬁwmmm
S 5.6 738w
YR #31 W 3 Ay gar 2, afrT 9 A RV s w®

PIs AY gl 9Id1 872 H'“>

1) 12 1) 16 )21 V)18



CLASS EXERCISE

Let x be a smallest number which when divided by 5, 6, 7
and 8 leaves a remainder 3 in each case but when divided by
the same number by 9 then the remainder will be 0 . Find the
sum ofdigitofx?m?ﬁggx@ﬁﬁﬁmm%m
5, 6,7 3T 8 | fauTiorg 39 W e fRufa # 3 Jw ggar
%meﬁgﬁﬁmﬁamﬁwﬁm

gIaT 21 x P 3(P] BT INT JTd PIfore?
i) 24 ii)21 i) 22 v) 18

SSC CGL Mains 2015, 2017






Type-3

N=k.l.CM(a,b;ndc)-x \O @
k=1,2,3........ | &



Find the smallest number which when d| ed by 25, 15 and 30 ]

and leaves remamder and‘r spe aly 2/C A8

maa?rﬁsmﬁr\ﬁzsw R 30 ¥ i W:
21,11 3R 26 AT T

) 124 u) 150 M IV)154 @-@ @
VAT W 58 @,



CLASS EXERCISE

Find the greatest number of 4 digits which when divided by 3, 5,
7 and 9 leaves remainder 1, 3, 5 and 7 respectively ? 4 3{c Bt

SR |
Sl e Id sivie o 3,5 73R oA
HH: 1, 3, 5 3 7 AYPd

T gy e? N
1) 9763 1) 9765 11)9764 V)9775 < )UQ/

o0y il gt g &




CLASS EXERCISE

Find the largest number of 4 digits which on dividing by 15, 18 21 and 24
leaves the remainder 11, 14, 17 and 20 respectively? 4 m Hﬁ m

a@mmaﬁmﬁms 1821 3iv 24 A fA
.11, 14, 17 31X 20 AY TI4T 22 @
l) 755 Il) 6557 111)5675 IV)7664

o
{ f \fa 1§

S|




CLASS EXERCISE

The greatest number of 4 digits which when divided by 12, 16
and 24 leaves remainder 2 , 6 and 14 respectively ? 4 &Rﬁ :dl
ma@mﬁﬁ 12, 16 3N 24 | RAUTRE PR W

QUG YT g1 27
i) 99/%/4 i1)9970 1i1)980 iv) 9998




CLU/.sS EXERCISLEE

Find the least multiple Af[23 Which dividing by (18) 21

and 24 leaves the remainder 7, 10 and 13 X

respectively? 23 &1 dg <Y< H U JTd
18. 21 X 24 | YT 31 TR HH: 7, 10 3R 13%

TG §idl 87

1) 3013 i1)3024 111)3002 V) 3036

7K R

N







I
Different Remainder (Let ry, 15, 13) I {/

_—— 0

Different Difference

(i.e,a-ry #b-1r, Fc-13)

k=0,1,2,3.........

Type-4:
N = k. LCM (a, b and c) + Chinese Number



_CLASS EXERCISE S
Find the smallest number which when divided by 3 and
nd 3 re ctlvel rm m oict

leaves remainde
2@1 3 3R 7
P HI:
i}Q; b |v)>< §~@




Find the least number which when divided by 9,@ and
13 leaves remainder 1,2 and 3 respectively? dg

YAdH &A1 1 ot 9, 11 3 13 A fqurfora
HHT: 1, 2 3R 3 AV TI4T 22
) 630

ii)730 i)640/ iv) 4;gg










CLASS EXERCISE

Let x be the Smallest number which when added
makes the resulting number divisible by 12, 16,(18 £
Find the/sum of digit of x 7 HI4 Eﬂﬁm X a9 B

o1 2000 F T URUITHT ST 12, 16, 18 MY 21 A
fITSa 81 Tl € | x & 3l &1 GNT 91 BINT? 0

)% \f{s iiy7./ j@
\ @ SSC CGL Mains 2015
—




CLASS EXERCISE

What must be a greatest number which when
subtracted from 5834 gives a number which is exactly
divisible by each 20,28 ,32 and 35 ? 98 Uad 51
H&I1 B Ul g1 g1feT ford 5834 # & UeH WR 98

gmmagagfﬁﬁmzo,za,azaﬁvasﬁ@h

i) 1126/ i)4714 ii)5200 ,
iv) 5600, <4 B\LQ:; \ 7’7"\% b
O




CLASS EXERCISE

What the least no must be subtracted from 1936 so that
the resulting number when divided by 9, 10 and 15 will
leave remainder 7 in each case ? 1936 & ¥ &9 I
DIt A DI ST B YTl AT drfe gfyomst
"SI BT 9, 10 3R 15 | fAURa 39 ) vad® Rfa &
7 WY q?

i) 37 ii)36 ii)39 iv) 30



CLASS EXERCISE

Find the number between 1000 and 2000 which when

divided by 30(36z -@- ives a remainder 11 in each
case? 1000 31X 2000 % &t P a8 HII JId HIfoig ford
30,36 3M¥ 80 & uﬁaaﬂﬁwm@:ﬁrﬁm

11 9T BT 27 O\

) 1523 1) 1451

(\ﬂ/l\ﬁ— | W/ ‘ 7\@ CHSL 20@
|

111)1641 IV)1712




What is the least number that must be subtracted from
1294 so that the remainder when divided by 9, 11 and 13
will leave the same remainder as 6 in each case? 98 DIl

A BId) TBI I W 2 o 1294 | gerar §ET
dfe ATl 9, 11 AR 13 A AU FH ®
H 6 & U Y T?

1) 2 ) 1 )3 IV)4

SSC CGL Pre 2016, 2018



ADVANCED BOOK ASSIGNMENT QUESTION

QUESTION NO: 4,10,11,12,20,22,23,27,28,29,
44,49,55,56,57,58,59,60,61,65,66,73,



